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Instructions : 1) Al questions are
compulsory.
i) Ilustrate vour answers
with  labelled diagrams

wherever necessary.

1) Marks allotted to each
question  are
against it.

mentioned
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i) 12 i) 24

iii) 36 iv) 48. 1
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. Choose the correct option and write in

vour answer-book :

A) 1If leaf-cells of a plant have

24 chromosomes then the number

of chromosomes in its endosperm

will be

) 12 ii) 24

i) 36 iv) 48. 1
H985671

, : [I'T‘um over
http://www.upboardonline.com

wod auruopteoqdn-mmmyidny

wod auruopteogdn mam,:dny

hitp://'www.upboardonline.com
348(WL) 4

B) Interstitial chiasmata are found in
1}  Univalents
11)  Bivalents
1)  Uni- and bivalents
iv)  none of these.
C)  Acid rain was first seen in
1) America
i)  Scandinavia
i)  India
1v)  Canada.

D) Dihvbrid tesrt cross ratio is
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& ? 1
VAT ST ST FRTS T E 2 1
What is biopiracy ? 1
Comment upon Bt cotton., 1

What 1s the chromosomal formula of

Turner syndrome ? 1

Cyathium inflorescence is found in

which plant ? 1
What is the unit of sound
pollution ? 1
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Comment upon ‘hot spots.” 2
Describe the contribution of Darwin.
http://www.upboardonline.com 2
Differentiate between the purine and
pyrimidine bases. 2
Comment upon food chain. 2
Define mutation. 2
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Differentiate between test cross and
back cross by making checker
board. 3

B) What is menstrual cycle ? Explain.
1 +2
C) Differentiate between the following :
172+ 1%
1} Producer and consumer
1) Pyramid of biomass and
pyramid of number,

D) Explain the process of IVF ( Invitro
fertilization). 3
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S. A) Write short notes on the following -
1Y + 1V
1)  Plasmids and phasmids
1)  Sickle cell anaemia.
B) Describe the mechanism of sex
determination in human. 3
C) What are transgenic organisms ?
Explain with suitable examples. 1 + 2
D) Explain the role of MICro-0rganisms
in bio-gas production. 3
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6. Write notes on the following :

A)  Human diseases  caused by
mosquitoes and their control. 3
B} Gene cloning. 3
C) Pollen culture. 3
D}  Gene therapy. 3
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7. Describe the methods of sexual
reproduction in plants. 5

OR

Write an essay on population explosion

and birth control. 7+ 3
8. =t w dfera femuit fefan -
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8. Write short hotes on the following :
2% + 2%
a) Differences between ex-situ &
in-situ bio-conservation.
b) Differences between B-DNA and
Z-DNA,
OR
Describe the following : 22 + 2%
a) Developmeﬁt of male gametophyte.
b)  Different types of endosperm.
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9. DNA is a genetic material. Prove with the
help of experiment. S
OR
Comment upon the following : 2% + 2%
a) Ozone depletion

b) Green house effect.
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